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Zone collectée Repère 
d’émissaire 

Positionnement 

Four 1 1 Hall 2 sud 
Rejet toiture  

Four 2 2� Hall 5 nord 
Rejet toiture V 

Four 3 3� Hall 2 nord 
Rejet toiture  

Four 4 4� Hall 5 sud 
Rejet toiture 

Grenailleuse 
29.12.01 

5� Hall 2 
Rejet toiture 

Grenailleuse 
29.12.02 

6� Hall 2 
Rejet toiture 

Grenailleuse 
29.12.06 

�� Hall 2 
Rejet toiture 

Grenailleuse 
29.12.08 

8� Hall 2 
Rejet toiture 

Grenailleuse 
29.12.09 

9� Hall 0 
Rejet toiture 

Grenailleuse 
29.12.10 

10� Hall 2 
Rejet toiture 

Cheminée de 
l’installation de 
traitement des 

effluents liquides 
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